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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

16.

The different group of stars is known as

A) Constellations B) Celestial bodies C) Asteroids D) Comet
Which country has two-party system?

A) India B) Sri Lanka C) United Kingdom D) Nepal
Which of the following is a macro nutrient?

A) Mn B) Mg C) Cu D) Zn
The process of evaporation causes

A) Cooling B) Heating C) Dryness D) None of these
Place directly above focus on Earth’s surface is known as

A) Strike B) Comma C) Epicenter D) Origin
How does light normally travel?

A) In concentric circles B) In a straight line

C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4™ Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number
18. What decimal of an hour is a second?
A) .0025 B) .0256 C) .00027 D) .000126
19.  Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples
20. A does awork in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days
DOMAIN KNOWLEDGE
21.  While machining cast iron coolant should be?
A) Dry air B) Kerosene C) Machine oil D) soft water
22. Thetool post of a planning machine is mounted on?
A) Apron B) Cross rail C) Clapper box D) Saddle
23.  Which one of the characteristics of a milling cutter is most suitable for climb milling?
A) Left hand cutting B) Teeth material is carbide
C) Larger clearance and rake angle D) The teeth are straight to the axis of the cutter
24. A gear wheel has 36 teeth and 3 mm module, its pitch diameter is?
A) 12 mm B) 75 mm C) 80 mm D) 108 mm
25. A 1.5mmdisplacement of tool point in boring operation will result in a change in the diameter equal to?
A) 0.75 mm B) 1.5 mm C) 3mm D) 6 mm
26. The position of gear cutter on the arbor for rack milling is?
A) Nearer to the column B) Nearer to the arbor support
C) At the middle D) At any point on the arbor
27. Which gear arrangement used to change the circular motion of horizontal to vertical without change in speed ratio?
A) Two spur gear B) Two helical gear C) Two bevel gear D) Worm and worm gear
28. What is the standard TTL noise margin?
A)5.0V B) 0.2V C)0.8V D) 0.4V
29. Therange of a valid LOW input is:
A)0.0V1to04V B)04Vto08V C)04Vitol8V D)04Vto24V
30.  When an IC has two rows of parallel connecting pins, the device is referred to as:

A) QFP B) DIP C) Phase splitter D) CMOS
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

Which digital 1C package type makes the most efficient use of printed circuit board space?
A) SMT B) TO can C) flat pack D) DIP

The problem of interfacing I1C logic families that have different supply voltages (VCCs) can be solved by using a:
A) Level-shifter B) Tri-state shifter C) Translator D) Level-shifter or translator

Ten TTL loads per TTL driver is known as:
A) Noise immunity B) Power dissipation C) Fanout D) Propagation delay

The use of triggered sweep when using an oscilloscope provides more accuracy in which area?
A) Frequency B) Amplitude C) Reticule activity D) Timing

Which device would best aid in shorted track detection?
A) Multimeter B) Current tracer C) logic pulser D) oscilloscope

CMOS logic is probably the best all-around circuitry because of its:
A) Packing density B) Low power consumption
C) Very high noise immunity D) Low power consumption and very high noise immunity

Low power consumption achieved by CMOS circuits is due to which construction characteristic?

A) Complementary pairs  B) Connecting pads C) DIP packages D) Small-scale integration
A TTL totem pole circuit is designed so that the output transistors are:

A) always on together B) providing phase splitting

C) providing voltage regulation D) Never on together

The time needed for an output to change as the result of an input change is known as:

A) Noise immunity B) Fanout C) Propagation delay D) Rise time

A series of gradually decreasing sine wave oscillations is called:

A) Ringing B) Slew C) Overshooting D) Undershooting
The fast carry or look-ahead carry circuits found in most 4-bit parallel-adder circuits:

A) Increase ripple delay B) Add a 1 to complemented inputs

C) Reduce propagation delay D) Determine sign and magnitude

How many basic binary subtraction operations are possible?

A) 4 B) 3 C)2 D)1

How many basic binary subtraction combinations are possible?

A) 4 B) 3 C)2 D)1

A +5V PCB power source that has been “pulled down” to a +3.4 V level may be due to:

A) a circuit open B) a faulty regulator C) the half-splitmethod D) a circuit short
Measurement of pulse width should be taken at a 50% mean of the:

A) Overshoot and undershoot B) Rise and fall

C) Damping and ringing D) Leading and trailing amplitude
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46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Which test equipment best allows a comparison between input and output signals?
A) an oscilloscope B) a logic probe C) a spectrum analyzer D) a multitrace oscilloscope

What is the next step after discovering a faulty gate within an IC?
A) Repair the gate B) Re-solder the tracks  C) Replace the IC D) Recheck the power source

The use of a multimeter with digital circuits allows the measurement of:
A) Pulse width B) Voltage or resistance  C) Current D) Pulse trains

A data conversion system may be used to interface a digital computer system to:
A) an analog output device B) a digital output device C) an analog input device D) adigital printer

The output will be a LOW for any case when one or more inputs are zero in a(n):

A) OR gate B) NOT gate C) AND gate D) NAND gate
In a planning machine the depth of cut is given by?

A) Adjusting tool slide B) Rotating the feed screw of the tool holder
C) Moving cross slide D) Lifting the work piece

The determination of a digital signal’s frequency and wave shape is best accomplished with which test equipment?
A) an oscilloscope B) a multimeter C) a spectrum analyzer D) a frequency generator

What are the two types of basic adder circuits?
A) half adder and full adder B) half adder and parallel adder
C) asynchronous and synchronous D) one’s complement and two’s complement

Why it is necessary to maintain an approach distance between the cutting tool and the work while working on
shaping machine?

A) To cool down the cutting edge of the tool bit B) To avoid any ridger at the end of workpiece

C) To allow the chips to fall and clear the cutting edge D) To enable the clapper box to return to cutting

Oil grooves are to be cut in brass half bearings. Which one of the following chisels in suitable?

A) Flat chisel B) Cross chisel C) Half round nose chisel D) Web chisel

The quality control allows at the most 0.4% defective parts, How many defective parts can be allowed in a
production of 500 parts?

A)l B)2 C)10 D)20

One which unit the tool setting is done on NC machine?

A) On special devices away from the machine B) On the NC machine during idle time

C) On the pre setting devices D) None of above

The component of the surface texture upon which the roughness is superimposed is known as?
A) Surface roughness B) Surface texture C) Lay D) Waviness

Which type of signal is represented by discrete values?
A) noisy signal B) nonlinear C) analog D) digital

Thread ring gauges are used check external threads. Separate ‘Go’ and ‘No Go’ gauging members are provided.
Which one of the following screw thread elements is not checked with the ring gauges?
A) Pitch B) Helix angle C) Profile D) Pitch diameter
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74,

Morse taper is one of the internationally accepted standard tapers. The morse taper are available in numbers from?
A)0to7 B)0Oto8 C)lto7 D)1to8

A binary-weighted digital-to-analog converter has an input resistor of 100 k. If the resistor is connected to a 5 V
source, the current through the resistor is:

A) 5 mA B)50 A C) 500 A D) 50 mA
Which of the following is a type of error associated with digital-to-analog converters (DACS)?
A) Nonmonotonic error B) incorrect output codes

C) offset error D) Nonmonotonic and offset error

Which one of the following is an artificial abrasive?
A) Emery B) diamond C) Corundum D) Silicon carbide

A main purpose of using worm and worm wheel drives in machines and their accessories is t0?
A) Transmit large torque

B) Provide large speed reduction from worm shaft to worm wheel

C) Transmit higher speeds

D) Provide large speed reduction from worm wheel to worm shaft

The grain size of a grinding wheel is indicated by numbers, which range of grain size referred to as “Very Fine’?

A)10-24 B) 30-60 C) 80 - 180 D) 220 - 600

CNC machine are not manually operateD) They are controlled by means of?

A) A programme B) An operating C) Acam D) A plug board system
A gear wheel has 36 teeth (z) and 3 mm module (m) its pitch diameter cutter?

A)12 mm B)75 mm C)80 mm D)108 mm

The tooth thickness of rack is measured by?

A) Universal vernier caliper B) Gear tooth vernier caliper

C) Flange micrometer D) Gear tester

Apoint to point control system is suitable only for one of the following applications?

A) Milling profile B) Turning C) Dirilling D) Grinding

If a signal passing through a gate is inhibited by sending a low into one of the inputs, and the output is HIGH, the
gate is a(n):

A)AND B) NAND C) NOR D)OR

A single transistor can be used to build which of the following digital logic gates?
A) AND gates B) OR gates C) NOT gates D) NAND gates

The logic gate that will have HIGH or “1” at its output when any one of its inputs is HIGH is a (n):
A) OR gate B) AND gate C) NOR gate D) NOT gate

How many NAND circuits are contained in a 7400 NAND IC?
A1l B) 2 C)4 D)8
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75.

76.

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

Exclusive-OR (XOR) logic gates can be constructed from what other logic gates?

A) OR gates only B) AND gates and NOT gates

C) AND gates, OR gates, and NOT gates D) OR gates and NOT gates

How many truth table entries are necessary for a four-input circuit?

A) 4 B) 8 C)12 D)16

A NAND gate has:

A) LOW inputs and a LOW output B) HIGH inputs and a HIGH output

C) LOW inputs and a HIGH output D) None of these

The basic logic gate whose output is the complement of the input is the:

A) OR gate B) AND gate C) INVERTER gate D) comparator
What input values will cause an AND logic gate to produce a HIGH output?

A) At least one input is HIGH. B) At least one input is LOW.

C) Inputs are moderate D) All inputs are HIGH

What quantities must be compatible when interfacing two different logic families?

A) Only the currents B) Both the voltages and the currents

C) Only the voltages D) Both the power dissipation and the impedance
Dressing and turning of a grinding wheel are?

A) Exactly the same operation B) Done with the same equipment

C) Done only for coarse grinding wheels D) Only for form grinding

The web of twist drill, due to repeated grinding causes resistance to feeding while drilling a 12 mm diameter hole,
the above effect is reduced by providing?
A) Negative rake of web B) Thinning of web C) Less feeding force D) More feeding force

Itis required to finish grind a dia 50mm hardened steel shaft on a cylindrical grinding machine, if the recommended
surface speed of the work is 33 metres/minute, the rpm of the work is?
A) 190 B) 150 C) 210 D) 250

Which one of the following thread forms is provided in the threaded parts where the pressure acts on one flank of
the threads during transmission?
A) V thread B) Square thread C) Knuckle thread D) Buittress thread

Which one of the bushes used in a drill jig and permits cutting tools of different diameters?
A) Press fit bushes B) Removable bushes(slip) C) Fixed removable bushes D) Liner bushes

Which one of the following equipments is used in the shop floor for the checking of the form that is being turned?
A) Template B) Snap gauge
C) Dial test indicator and slip gauges D) Tool room microscope

While grinding and lapping cemented carbide tipped tool with diamond wheels a good flow of coolant should be
directed to cover the grinding zone, the coolant suitable is?

A) Soluable oil B) Mineral oil

C) Sulphurised oil D) Mixture of paraffin and water
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88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

Which one of the following operations can be done on slotting machine?

A) External keyway on long shaft B) Internal grooves

C) Woodruff keyway on a shaft D) Keyway for feather keys

A screw thread is designated as 1" B)S.P. thread, in 1 inch B)S.P. thread what 1" indicates?
A) Major diameter of thread B) Minor diameter of thread

C) Pitch diameter of thread D) Hole diameter of pipe

It is commonly observed that the face of a grinding wheel becomes shiny and smooth or glazed after some use due
to one of the reasons stated below?

A) Grade of wheel is too hard B) Abrasive of the wheel not suitable for the purpose

C) Grain size is too coarse D) Structure of the wheel is too open

A traveling steady is fixed on the saddle of a Lathe. What is the function of this steady rest?
A) To prevent bending of long shafts due to cutting forces

B) To avoid load on the lathe centers while turning long

C) To reduce the load on the cutting tool while turning

D) To enables to turn at higher cutting speeds than recommended

Zero setting of the two point bore dial gauge before the measurement is necessary to?

A) Account for the errors in the gauge B) Facilitate comparison

C) Setup initial pressure in the gauge D) Eliminate inaccuracy of the measurement
Indexing head mechanism works with?

A) Rock and gear B) Worm and worm gear C) Two helical gear D) Two bevel gear
Which milling machine is particularly adopted for milling internal or external profiles?

A) Pantograph milling machine B) Universal milling machine

C) Planetary milling machine D) Tracer controlled milling machine

There are two types of milling processes based on the direction of cutter rotation and work feed direction in up cut
milling?

A) The work is fed against direction of the cutter rotation

B) Chip removal starts at the thickness part

C) Machine with backlash eliminator is essential

D) The work is fed in the same direction as the rotation of the cutter

Which gear arrangement used to change the circular motion of horizontal to vertical without change in speed ratio?
A) Two spur gear B) Two helical gear C) Two bevel gear D) Worm and worm gear

A Shaft is turned in one finish cut which one of the following parameters will directly influence the machining time?
A) Cutting depth B) Setting angle C) Diameter of work piece D) Tool travel distance

A steel workpiece of height tensile strength is to be machined with a HSS milling cutter, which one of the following
rake angles is best suited for the cutter?
A) 8" B) 12" C) 20" D) 28"

By using quick return mechanism in shaping machine the cutting stroke moves slow and return stroke fast. what is
the ratio between cutting stroke and return stroke?

A)2:3 B)3:2 C)5:3 D) 3:5
A product is said to have the quality when?

A) Its shape and dimensions are within the limits B) It appears to be very good

C) Itis fit for use D) The choice of material is right
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A) TafResa FIfoR «e Stest T e B) AT I FRAET (+I3 A1 (I fawena 7% 71 27

C) fooPiasfer aite #Itw 717 = FhL g& AR ACE D) FHiel= 73 Ace b9 f6ea @rs «ita

(1o 2% [T ST 2o FiB! ATRSH, (i it 3927 F91 263 2

A) Fi5 oree B) @i foreie1 C) 2T ATS (1% Hroe D) etz forsiet
IS FCTIET 0.4% FHIS AR Srame (31, 500 2T Tesiive Foefer @)l oiffl srersme caiay 2
A) 1 B) 2 C) 10 D) 20

NC IRITe Get (629 (IR GF(0 21 el 23 2

A) It rE<el fee e iz B) <%t 5311 2062 1! ¥ SIRZT NC (IR¥IT

C) fatt: ez D) 45 =1
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58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

A) A QA B) ARCA (GBI C) G D) et
TGATEs 1 (S71e]) (AT 0% @Il It *ro 231 2
A) TS S B) w=etigE C) Sri=ietal D) ff&biet

QR (AT AT Gy (A iR 916 A=l 1 77 | “Call” 9= (1 ¢all” oiferk st I ot | faik i aistl (piel % (2 <
Al Sl 2
A) o5 B) CafeTsy SiCeet C) crwrize D) foitsa 51

G BHAR GT5 ST os SIS0 TS F=T BRI | (T =1 GO fHreid #ihea I o (@le
A) 0 (AT 7 B) 0 (A< 8 C) 1 (A 7 D) 1 (S 8

5 AR FEETII § Sieiets ST ibia @3 100 k 2995 @FREa I8 | 5V S0 A5 94+ @Proafl ge sz
S (@PPHER (@ sifsel SIS Aelfere =

A) 5 mA B) 50 A C) 500 A D) 50 mA
fmferie wibefer stay @Im fan § simes Feibias Aite 7ifFe 2

A) TG G B) 3<ITI3 SITH55 (F©

C) S0 @I D) SeTSICIBI G STFCAG G-

@ Flas SrREERTS 2

A) afita B) 25 C) FFGIN D) e FRkfze
IR T @ €T 235 GiT® IR O S e 5 2

A) e 5F Heeiets B) G313 S7IED (TF ST BLT SIfH oifed g1 <oieat
C) T I AT D) S¥3 5@ 20 G MIFLH S 2o 291 IBITal
23R 5LEa v Re 1kl Ak fNere 23 | (@i =it oo o a2

A) 10 - 24 B) 30 - 60 C) 80 - 180 D) 220 — 600
CNC I S5 It Bletitel 22 =1 | (F=iba seges @it o 232

A) caliaifi B) IsiitaGe C) I D) 2ilal 16 F1o5a
(AT &) G0 ATGC (B OISR SFOTS S A7

A) ezl (i) B) g (Grees) C) TG D) ffegiormel (ZTGRT)
A VIO (34 A T Mol 27

A) Tefrerts el afersia B) fartizr He wifefaa wifereia

C) e NRTIoF D) fora (5351

frsfefroufem St wysia @aba ML 2105 § #ItES FCEIe Fess T=ifFe ?

A) fifers caireiget B) Bifelk C) fgfer D) aifgfes

@B P19 (@ @I 9ICGF TG (&1 2A5{C5F Sy M 201 2 5% CH7J5 212 23 (72 (9(5{00 Fe11 21
A) AND B) NAND C) NOR D) OR

(e STt #1fE (ol todia Sy @5 10sre Goifembia a921d F21 A 2

A) AND (55 B) OR (55 C) NOT ¢sf5 D)NAND (56
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.
85.

86.

G GG G (9 T B AN “17” SNTHB @R (T (I GG 2719/5 22 @ (n) | (A6 @ 2

A) OR (55 B) AND (55 C) NOR (45 D) NOT (o5
3 7400 HAND IC (© Foafe NAND AfF6 61 2

A) 1l B) 2 C) 4 D)8

[ (T ST (515 (ATF GFHFPTS-OR (XOR) #AE (9 0ot Tl 7€

A) ©gg OR (56 B) AND ¢ @az NOT ¢G5

C) AND (G, OR (4G @32 NOT (45 D) OR (5 @t NOT (55

G 4 %755 ARFTH oo Fowfer 52 (571 «fF 2re 2

A)4 B) 8 C)12 D)16

@35 NAND (51(5 T TSI

A) 395 ¢ =St B) Tt 27195 ¢ T w155

@ @R (956 SNTH 277157 2175 :

A) OR (55 B) AND (55 C) INVERTER (56 D) FAIC304

G AND =& (15 (P 2155 A= SO GG 78 S0 #{1C1 2
A)STS §FH 27523 B) SETC @ 220 (71 C) T wanfs e D) 31 3+{5afe1 23

w25 fom a1fer Tt T BRIt T G (I3 P15 263 2ATAE 2

A) ST IS B) (SIT5& € G Towid

C) YT (SIS D) “heataa = (TTRTCama) @32 2312 (ZCoIei™)
a3 f5 aNfEfes 5T (g g3k aiEfes e

A) 232 952 TAIZ B) 42 F aldl 411 2

C) wyslia <+ 2lf3fe bra a1 27 D) ©y1q &ligfe T T &

o ST 526 Ge1 a1 12 S 57 I 51 a1 219 Sy @i 9210 o1 (i 2o Ataitene 7 | «afb =t facy sieatt
W P
A) STEA ((T6i6e @ B) Sracad fafae C) = Wi ffer et D) wifsss i@ s et

3 f5 Piferfegaia afzfes e gt @G 50 ffS =TS 55e1 s71es 2ie 41 aitaie, 1 Srcite Fare b A= e
35 fal/fSIfe 27, Ozt =595, T 2

A) 190 B) 150 C) 210 D) 250
GIISITeTR 3757 T4 (AT e 4o ZIRTS Biol fEmaiiet (2 41 S0 6 4a0aia (ole tos 23 2

A)V (2T B) 35 (2T C) FCFe1 ATT D) 35t (2T
TG fereal (e <=t 1 Aol e (o 0T L bot e 1 A 2

A) (2 55 4 B) fasyre<e o) 3¢ C) e fRyreaet 34 D) iz 3
=9 (A fmfafie Tafa Azt (63 41 7183 (3 i 4a0a Bl 51 205

A) (G2 B) Wit et

C) TR (535 2107 @3k 7ol oier D) T 5 Sigt@siol
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87.

88.

89.

90.

91

92.

93.

94.

95.

96.

97.

98.

TR 236 i PIeIee SR B o afgfer g3z wmfer Fam 1w afEfes (et 93t Aree SR (F10) 212
S| ATTEH | (I Ao PO SN 2

A) TR (o5 B) feer ceeT C) ACTFRIZEG (&1 D) #iifere @32 SreeTa farelet
TR (IR SR (I AT 1 0 2

A) T LS GO 5 G0 B) 2GR &Fe

C) FTIECH Toral & € D) iz -2 &y 6 e

(b T (AT 1" B.S.P. (AT 3 1 3% B.S.P. (¥@ 7o ffere | 1" & fni 57 2

A) (AT (TS A B) (TSR WZ=a C) (aTes 5 D) =12 (RItsTa A
ARSI (7l A (T AL S 219 2B BT o Sogat @ W90 203 G610 | fwfeiie (e sizeifba ooy @b <5 2
A) 5TFF (2T Y1 (o B) 5(&rd SofF SIS IS Sy SHTIAN 7

C) (It BT (IR 0 D) 5T&< 919+ ({0 I&

(W (IR FICCH G (0 FITeek FBI A AT | 92 (FHiE (F5-93 e 5 2
A) 2 GRITHR BICHR & 312 A AT (&0 A1l AR 0 2ffors 1

B) &1k Bifeik-Q (51 (IBICH Bl FCIE &y

C) BifeRk -t 7573 B2 G TR (FIS IR Sy

D) siecanfirs sifeq Soi=twa b2 FPoite facw Bi S &

ACT 7T 5 ST (@ TR 9I0e *[+ G1bR (@ FICe A

A) it @ frafacez o B) wee< 412 Ty

C) 5ITe A biof 6 19 & D) AT STy 13 S ey

FrefR (2T ey @b At FeHE

A) 7 ¢ formme B) &7 ¢ &3y foria C) 725 Afsfenseiz farza D) w3 @res famiz
ZBIIET Al GIOIRAI C2irize ffer-aa (e fifer eifaft et ez e

A) #NTeBlal e (Ifie B) e fuifer fe

C) #iteofa fuifer e D) G FCGIeTS ferz (e

(T SIATZITA (e ST G F62 e Priaes 0 (g stz e 2 2

A) @ife B) f&fei C) b D) Bifeik
(SCACALE @fore (I &7 g e 2

FVESIGH B) SIf5% C) #iifeeg D) fufek

G IFHC GFTD Rrferl FICHH MBI T4 S (1 2FRIFHRT Ifeifa s1raress sramifa ereifie saca 2
A) 3R (o2 B) GG SyiCs™T C) PRI A1 D) T GItetaa e

235 (GoPTIEe (FGICAT O 769 Frfae HSS [ifer w5 7wt (if¥ifee a1 29, fsfeiesfem St @ @< Suieet

FIBICAA S (¥ AT 2
A) 8" B) 12" C) 20" D) 28"
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99. 333 RO iwfere (e @Ifeik-«3 75 bR CRIFG At @3 O CHA o | 6 CFIF <k KOI GBIt Sl

@2

A)2:3 B) 3:2 C)5:3 D) 3:5
100. (I A7 e 961 AT (@ c2ATeIFH S e 2

A) 22 SR 8 7| fgifas g s =g

B) «ft (e 31 e

C) it Gy «fb {266

D) (b1 Ao fordiioe
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GENERAL APTITUDE

10.

11.

12.

13.

14.

AT AT T2 318 3Tt ST

A) FHiEATE B) facifeecsa aiidly C) iwetizen

IV ST f5-d87 Tget M8 ?

A) 9Rd B) sfieteht C) gArIeE fhren
GTefiet Yt ShivTd Heh! NS veref AR ?

A) Mn B) Mg C) Cu
EIECEISTRIE G

A) ug B) TH C) HIE

geefi=aT I8 WA 92 o ST hgE Tl FurdTd :

A) TTEh B) AT C) Ttde

TeRTST TTEROT U] T JaTd shdl ?

A) TS TBTRRIT B) Wl W HY

C) Jedi Ueht SFumHy s fev D) ahivd

gy 391 99 Sfrenfie wifd wreet

A) ®E B) fsrew C) St

TCH T TG UATETS AIeRATUAT= §1et 71 faarell SToRdT A0 el -

A) T FITHTIT ST faae B) T14Te3 31urT=yt feasft
C) Tt v feaw D) 2Afasr gy reorm=n feasf
TRAT 7Y TH HITHT=A1 AT FRof 39 IHR0ATA e :

A) 5T B) sifesi C) FR

TR w7t 7Tl g8t 719 TR -

A) TSt ATt B) MesT=ht (STgfarsta) ATt
C) &7 ATt D) AT (feTmge) Hret
84 37fo1 270 = HCF 3T :

A)8 B) 6 C) 4

3 =1 YoM UTe Hedlaardt (Tl gen) sist o

A) 45 B) 65 C) 75

7 12 AT AT R -

A) 28 : 40 B) 42 : 71 C)72: 42

D) quwH

D) 90

D) 42 : 72

F. 2000 T 25/4% Ffd I TS 4 Bl 2005 o 18 TUA 2005 T FHIBTETS! INET:

A)®. 35 B) %. 30 C)®. 25
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15. 20 37T GUEH MR Y. AT, STediased, fohedt S ver s1feres sradiar?

A) 0 B) 1 C) 10 D) 19
16. T SRTE0T BAeiell 9Taug 24 TehaTd 200 Hie gradl. == 97 3R -

A) 10 km/am B) 17 km/dt&@ C) 27 km/am D) 30 km/atd
17. el QU1 fohall STqul S7ehTd <o BIse o1l He (THe) o1TR -

A) Teh TaTHTioeh EET B) T qUTfeh

C) U Tl D) T |quf @& (Whole)
18. s Tehe Ueh aTa fehell 29maT SR

A) .0025 B) .0256 C) .00027 D) .000126

19. TH % [Iohcdl e FIE 968 aid. a1 40% Thas faehdl T QM=ATehe 319 420 HHEE Rieaish
TR, W, HooTd AT=ATHS fohell THTEE B 7

A) 588 THEE B) 600 UHL=E C) 672 T%=E D) 700 =g
20. A TH &M 10 fagara guadl i1 o= M B 15 fea@ma qui sidl. o€ d 38 U o s fohdt fes@ma qui
ETGIN K
A) 5 feag B) 6 fea@ C) 7 faam D) 8 fea@
DOMAIN KNOWLEDGE

21. AT AT e AT Fele 3T 39T -

(a) g T (VEZULE (c) wefi 31isd (d) &9 diex
22, WA AR TS 91 BITeR F@ad 9

(a) T (b) e (c) T st (d) Fea
23.  fufom srewen wieficrehl shivrar qored Fess ffmardt gata @ e ?

(a) TIFe T8 i (b) e HefiaTat 31 wraise

(c) TSR fFasrid i 3k et (d) <Td het=an ifRTEeT Te TRd
24. Uen fTRAHY 3TTed 36 I1d U 3 mm = Aiesd, T g SR 3178 -

(@) 12 mm (b) 75 mm (c) 80 mm (d) 108 mm
25. ST SATRIARY T Uised 1.5 mm feawieie ST decid o ST8e 3 -

(a) 0.75 mm (b) 1.5 mm () 3 mm (d) 6 mm
26. T fufermandt strelter firr wet=h S o1 39 -

(a) SicTo=a1 S (b) TR TURE S/e

(c) weaw faepmoft (d) TR FoeaTe! Urgean
27. TS VIR SEAcATRIET TRjeR HIvH SATSHTITET I¥ITHY TEATIe hivrd FRR sRSHe Jrorard ?

() 2 T firk (b) S R frR (c) 2 Foreea firm (dl) = rifor & firer
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28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

42.

43.

44.

e TTL Aies qifeid s/ 3R 7

(a) 5.0v (b) 0.2v (c) 0.8V (d) 0.4v
@‘%‘l@'LOW ngz%ﬁiﬁraﬂ%

(a) 0.0Vd 0.4V (b) 0.4V 0.8V (c) 0.4Vd 1.8V (d) 0.4vd 2.4V
Yol TehT |C HY THIAL shfaT fU==an S TN SA1ed, o1 =TT STE1 3gd hidTd :

(a) QFP (b) DIP (c) ®H feeret (d) cMOS
wvrd fefiea IC vohe e wfthe 1€ wemn waifies srfam amr sd ?

(a) SMT (b) TO %A (C) %eie Ueh (d) DIP
AR SRedsl (VCCS) JRE3T STETTAT SSTHRT IC Alforeh TRART THE § JTUe diead! I5d -
(a) Treea- e (b) T1-% firex

(c) TR=TeX (d) <reea-faTeer foha gieeter

ST TTL <reyfd TTL RIeetell Teurdrd ¢

() FTest sy (b) wiar fefeiem (C) HaTse (d) S feet
SR ST FTE T =T SATIR IV ST ST STRI0T aal ?

(@) FrE=h (b) sffEctere (c) Yemrqe sifaefeedt (d) erfim
Tee Soh fedaT e v 97 Falfersh Had il ?

(a) FediHie (b) e T (c) SR T (d) sfeeiren
CMOS TifoTe agdsh T8 Haeard] Hichd! 3118 SRVl Td © 3R -

(a) dfer S (b) &1 dTeR FheasHE

(c) fa 3= ATest 3Ry (d) = uTer shgrraer STfor 31fd 3= e s
CMOS TfthegR &t uiar shemaeH firesact servfiean shivre oremiyes ?

(a) FifEccti derd  (b) FAfaeT ded (c) DIP Usi| (d) SHTa-Thet 3eUTH
TTL 21eH Ui Hiched! T1 STRM hefl 3h1 T3S gITered 3TTed -

(a) 9aq A4 T (b) %= featen gara

(C) SRIeest TYATH SaTd CIESIHRCEEIEEI]

YRS TT FTCATYS SIYCHY BT TEATTS! AT JebeAT FETTd :

(a) A3 segfc (b) ®=3E (c) s fead (d) TSt erEm
TBES I BV TS et SATCTI=AT JEclel FeviaTd :

(a) fifm (b) =3 (c) steezgfe (d) stewgfen
g 4-Tore TaTaT- 37t Afchend sT8eial B il foha ar-37ae il Aiche 7 FAaTa:

(a) T feat argaam@ (b) HIfFTHIE STYEAT 1 HATF A

(c) wtore feot st ad (d) @rET 3for Hfiresre Ffvera o

Toheft Ifdres ST HeIdeR ST 19T TR ¢

(a) 4 (b) 3 (c) 2 (d) 1

Topel} SIfren ST HegaRT TRl (SRiTFIT) STeRT 3T ¢

(a) 4 (b) 3 (c) 2 (d) 1

+5V PCBT Uia T +3.4V THIT Tl SATGUaTd ST 3R, 979 R0 37 I1hd 2

(a) Gfhe 3= (b) <t Tgerex (c) TTH-Teete Jumett (d) wfehe =17e
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45. Uou=dl ®e HISHIT YA e 50% SA— 8

(a) AR TSR (b) TS IO HicA
(c) Efedm sfor fifim (d) featem smfor 2fem stfrerese
46. TGN M13eYe fomemefiel qoiT Haifeeh 3TH iU & ST qRifod 7
(a) sfeienT (b) i S
(C) THFH FTATISR (d) TedieH AR
47. IC HY 3l 71T AISATER Y& Tl S TS -
(a) e g (b) T g=T Hicet R0l
(C) IC e (d) TTerR B T
48. fefoeat afthearaaa aeditfiet &M TISvITET! JTIEdTd -
(@) Toaeh & (b) et e Miem () Fie (d) 7| T
49. feea Freget Setha oS! 2TeT shoesiH foen aTaEdTd § Suamal
(a) T 3T3eye feoeren (b) fefreat sm3eye fesemem
(c) fefreet fiex (d) Tt e fecarsw
50. SHITCATE STEdId STSCYELOW ITHS SIegl Teh fohdl 3Teh STYE I ST 2w -
(a) ORE (b) NOT 712 (C) AND T2 (d) NAND 2
51. W Hefime she=ht Wieft @mgR fEeft i
(a) T TS ST FE (b) T Bl e B TR
(C) T TI5E T (d) I 8 e
52. fefSea e wiea= o7ft1 deg 919 Tafd ITHRIc TE et Ad RI0TeT THET SUHITH ?
(a) sTificrehig (b) Aeditiex (C) Ty ST (d) Bt SR
53. T YN dfbeh 3T IV ATRd?
EECESE IR UECEN (b) 37¢f ¥ TMT THTAR 3FeT
(c) TETfeh STfor Hieshre (d) T HifECcTHe 3T Sre shiffeerie
54. T AefiER T HAHT I T Tehea TUAH T 7T S0 HT AT TR 7
(a) T forcal fen Tt o FwwaTEnat
(b) SrehHiE= 2iehTar HIvTE fis) TevaraTdt
(c) Foree ug SvarTdt SATfoT Shfen U wa=s JavarEat
(d) AR STFIAT FHTRS T STUTTATETS!
55. Tudos=a el SR Higel Yoedld1 T HTE. WietleTdshl shivrd! fesel 7 372 ?
(a) Fie fosia (b) i fasie (c) BT TSE A fasie (d) 3 faera
56. TRITTS! shalel SR ST 0.4 % ST 9T W1 ohid. 500 SRTI=AT 3caTeTd fehdl SIS STHT 0T Bidiel
(a) 1 (b) 2 (c) 10 (d) 20
5§7. NC AefHaR v e ot afen ga?
(a) forrs =Ter 51 Wi qTgd gX Ted (b) NC TefiHaR SIS TEH=AT det
(c) sfafém F=men C)ESEINGH]
58. JEINTIAT GIdT= d Heeh SITaRd! EEEduuITe! TR0 Bid, T SeehTell TeurdTd :
(@) THE T (b) T TR (c) ™ (d) =
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59.

60.

61.

62.

63.

64.

6S.

66.

67.

68.

69.

70.

71.

72.

73.

74.

VT JehRi=AT fmeren g e (fewhie ey wiaHitee shara ?

BEERGES (b) 7 fafiew OE&s (d) fefreat

Tl g qUrEvATETS! € FT T JTatel STdTd. SRTaTes T ST Ay Aot Hrerd fiel ST, et
VA B IS Heh T IS quTel SITd AT ?

(a) fir=r (b) Tt sfTer (c) STt (d) forer zramefiee

T W 2 AT Tiehd e TUTThl Tk e, Wi 208 Iuctedl 3T &l Tty ?

(@)od 7 (b) o 8 (c)1d7 (d)14d38

T TERI-aeE fefSed-2- i sweedme 3118 100K o Y UTRet. SR ARt T 5V 91 Sied @,
ey ST i TR

(@) 5mA (b) 50A (c) 500A (d) 50mA
GTefierdsh! hivrdt o7eft <[ 312 St fefsreat-g - sfaettn sweedd (DACS) =it gama o1mR?

(a) 7 HHerHF T (b) SR STT3TIE HISH

(c) ATHIE TR (d) 717 HFTRieH 3vg SATHde T
GTefiatshl HIvTd FHEm Aafies 3R ?

(a) T (b) TrE (c) FrieH (d) fafereriT Fmetee
T T e SfaaEieY o ST it gréeas] ATIRuaT= 2] 1% &

(a) |1 2feh Zifere o (b) It v o I sEicter 7 wiig frgae uTH o
(c) 3= Tite Zifare o (d) o SEie o I IR 7S Tig fgd™ e ot
20 TTSFET oEieT=i I WSSt T exifaret! STTd. <hivrd) I ardsreh IS “‘sedt wrga’” AR ?

(a) 10-24 (b) 30-60 (c) 80-180 (d) 220-600

CNC HRfHHT &A™ =Tetad ATeid. el =0 3/ 8

(a) wh w1 (b) Tk SATRTET (c) T Fu (d) T e ot foreen
5.+ U1 IR SEieme 31124 36 a1d (Z) MM 3 mm Afed (m), T = fUer SRHiet et 31 -

(@) 12 mm (b) 75 mm (c) 80 mm (d) 108 mm

(a) Ffreeta w=fRR Haw (b) firm 221 s iR

ORSEERE i (d) firm 5

Tise g UT5e helcl TaEeH AT TR WieficTdsh] TehT ATIETE! -

(a) fafer TeEe (b) =fm (c) Sifem (d) Tmsfeé

S TETE $HYCHY Tl U1 TeHE STom=a1 fHueret Sfdeierd shel ST ABSYSHIGH 3T, T, d T1E T8 -
(a) AND (b) NAND (c) NOR (d) OR

et gifereetmn AT wrefieteh v fefsea @ifsen e s gar?

(a) AND TIE (b) ORE (C) NOT 72 (d) NAND 2

STeRT IV Uk STYCHIGH ST Aifoieh Tee STSTYEHIGH foha "1 318a o 3112 (n) -

(a) ORE (b) AND 712 (c) NOR 2 (d) NOT T2

T 7400 NAND A forcdt NAND®fRE Tmfars e1mRa?

(@)1 (b) 2 (c) 4 (d) 8
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

& - OR (XOR) TTfSTeh ¢ STVTET FhI0Te GH=AT AAlTeTeh 11¢ U STeel SIS IehdTd ¢

(a) ®® ORTI2 (b) AND Tre3TTfoT NOT 712

(c) AND T2, OR T2 3T NOT 712 (d) OR T2 TfoT NOT e

B - Fqeafheand ot 221 Zoe UgT SATavaeh TTed ¢

(@) 4 (b) 8 (c) 12 (d) 16
NAND TIere 3778 :

(2) LOW Y3 LOW 3T3TYe (b) HIGH ST HIGH 3T13¢Ye

(C) LOW 39e 3711 HIGH 3T13eYe (d) e =RioTE

T 3T ATk AT T2 AT TSI AT el [k TR, I IR -

(a) ORE (b) AND 712 (c) 3R (d) R
VT ST TRATIT AND TEdT Toh HIGH 3TT3CYE 309 HUTETa! ShRUMd 3 7

(a) TR T STYEHIGH 1@Tdl (b) forAT™ T FgELOW T

(C) ST HEAw AR (d) T TTYCHIGH 3TTed
SI58T QM STTeNTeRAT ITSToh TINETRTS SEThIET BId dogl fehdl THTOT STIHe STETed ¢

(a) e iz (b) I SEreest amifen iz

(C) Fh et (d) 2= e Feferirer amifor sfirea
Tt sdiere SiE smfor ofH sTRa 2

(a) TS THTUH ATRIA (b) THTE ITHLOTH FHLATT AT

(C) ek hid TS SETHTS! ShvATa STl (d) <k ®iH ITEfSTETS!

12 mm STET W e HAHT ST IHRaR ATsfeme fdawe Eietel a9 hifean fatig i, o€ 81 9iomg et
AT Il TG e

(@) TR N (b) Fo= Rf (c) it BfeT B (d) STt BifT i
50 mm ST g8 Wia yies e mefen fafefesra mefen axfirar o= o, SR +mm an
by witg 33 e/ fufie T8d & W rpm w1 3R 7

(@) 190 (b) 150 (c) 210 (d) 250
WicATAdeh! HIUd IS HIH ITH FTe T8 I IS8 Wi 9 IEIeH=an S0 ITR 9<=a1 el Felshal
F1 Fd 7

(@) Ve (b) Trem 92 (c) Tehet 9 (d) @ 9

e S @refierdeh! Shivrd §1 ATORUATd Ad S oTeTeodT SATET= i Zat Wi ohid ¢

(a) 3 fthe g9t (b)fgeeset gt (fFem) (c) foberee Fygsesret gerst (d) SR RISt
TR Ao HiA=h qUTET FOATHTS! T FARHY Wil ShIvTd ITeHLUT STIRuATd Ad ¢

(a) TA=TE (b) ¥4 1<

(C) ST 2 Ffeahet ofvT feeta Tote (d) T & AR

I AT AR AT Fe AR -

(@) Hicgeet T (JILEISIEIES]

(C) HewTEse Ifsa (dl) Ffee SATfer qrosTer firsror

1392_17 Marathi (C) 22



88. WTATcTUsh! ShIUd AT TATTT AR hidT Ad ?

(a) AT YIS s shid (b)3Teftet eed,
(C) SR IS hid IR HEIEICIEIE]
89. U T IS 49t T8 1" B.S.P 9%, 1 39 B.S.P g<He 1" % quiford ?
(a) g== A1 = (b)ge= EH ==
(c) g== foa =g (d) U7 B (TeR) =T

90. HTERUIU & AT TSl AR I TSR Rictan HH Fhashid, TeTEd fohdl s B SITdl, el e
AT, WieAlerdehl TehT SHIOTHeS :
(a) sEe g Afde™ FHeh TEd (b)eErera Tsifées = St A ATt
(C) I Ersst SAfaeE i (SRR IR (d) et sieoft srfase 3ot o
91. Y= HeaTal YaTE Wl s8aet 3T, el Wl e %l & ?
(a) T BIETYS TN IME ITH TBVATHTS!
(b)ATT THEdTT AYa=T AT TevaTaTd!
(C) TRl =ITe] STEATT i AT AN T FHUATETS
(d) T hetean Tefider, SToRet 3= i wiene et Avarenfar
92. HISHM FUATET 2 (two) UTEe SR SRI Tsr S A STravareh 118 Fremdt:

(a) TSHETE IR A& HUATEET ()T LT HRITEH BI5 Fevd

(C) TS YR STe G OIS (dl) HISTHTITC IS =[hT L FTATETS!
93. 3SfFuT TS HehfHem gIElerd T A

(a) Tk fT firR (b)ed sforad firm () g 2fcteha iR (d) 4 foreea firr
94. o fufer wef faredican feaea S et enfor sfer Teseas fufem s -

(a) T fufert asfia (b)Ff e fufer wefa

(c) et fufem wef (d) TR e fufem wefe

95. 379 e HfeTHE et U= fawm i aeh wrewan S snemreR a9 yehrel fafer ufswar a1 i o1 -
() T I ohel SITd el VeIH=AT foeg fovien  (b)fem wievl g% Bid STe wiTesd
(c) Seherar Tfetfi-eTaTsd wefie Hewyu 31 (d) a1k e et STTd el UH=AT {3

96. T U TEAATRIATE HHRITH HITH STSATE IH TSATATHTR! hivTd R SRHE Ao STl 7

(a) & = firm (b)ar 2femra e () @M forewet firm (dl) = rifor & firem
97. %R et STTd Ueht fhfamer, at @refierdeht shivrd qaetet aefif SrsHear 9 yaTfed e ?
(a) =fam Sy (b)afer sima OEERIEERIC] (d) T SoreT ST

98. 3= IS T I Wi aeh dio= HSS firfert she wefifim st 31, v, shed@ndl Wietierisht
I 1ok 3Tt Tt I 3R ?

(a) 8° (b) 12° (c) 20° (d) 28°

99. It TYne #ieh fied Heh{Hoi STeATE i Wik He T gotdl ST fied Wik Sefg Tdie gefdl.
T ek @TfT e Tl uier
@2:3 (b)3: 2 (€)5:3 (d)3:5

100. T SCATEATAT I8 T[UTET STl FEUraTd sieal o 3THd 31
(a) T I AT SRHIE FAfG= AT 31@aE  (b)d ATGe 390 ST foad
(c) T ITIETETEt A SR (d) wfecar=h fae o= 3R
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GENERAL APTITUDE

1. Q@9 gde elalg QI

A) 29998 B) 6Q6n82IR 9@ C) dlcgaded D) yJei6aq
2. 699 694Q Q@ AT A/ Qa7
A) QU B) §1a& C) 4919660, @aree| D) 6aal®
3. Q9AYe IQ 629G AI6RI 6TNITR 2U6S?
A) 9ANR B) Q& C)dg D) 62@4%.
4., QARG gR9 QA 92l 621R2IN
A) Q@° B) @&°
C) ¢80 D) 4g@@ F1Ig 6206 Q62
5. 9291Q 9 QIF6Q 9o QURER 6P RUE6Q 2RI AINQ 21 QLI
A) 8109 B) @9l C) 4d694a D) 20589
6. 2RI} ARIQESS FUQ IR FQ2IN
A) AA6RLQ1Y QRIRIQEQ B) AR 641160 C) A9Q! 29RUQ 2 D) 9@ 91 60¢I6Q
7. 699 6946Q goa aQ @6 d8 9 62IRam! :
A) 192 B) 360Q C) @dIa1 D) 9499
8. 2@ @96a 6dla 918 26Qg QR AR e AIF ANAIRAGS QL
A) QHiaQd gal @96 B) 6a1g21 @96Q C) 29 @96Q D) dee @29l Ga6a
9. QUE6Q, 9a @dl fiR 6QR0I6Q BT SRR
A) QIgIq B) @67, C) *IRgQ D) gee.
10. Q90Q @R AN I 62Q8
A) @@l A8 B) 2in@dia (@ C) UI0e Q@ D) QI66URG. (1@
11. ¥ 8 990Q dQlg 62@8
AT B) C)¥ D) 9
12. NQ e dIES QIR 6AINTR 62Q8 :
A) ¥8 B) o8 C) o8 D) ¢o
13. 9:€9 @I 9T0Q QAR 26T :
A) 9T:¥0 B) ¥9:9¢ C) 99:%9 D) ¥9:99
14. QTR 98/5% 2AR6EQ ¥ 6TAA! 9008 0Ig eI IFM 9008 ALY8 6.9000 RUER AR Y AR
@0gl
A) ¢. N8 B) . Mo C)¢. 98 D) ¢. ¥o
15. 900 QYR QLR 6208 ¢RI QAR C1g 6R6IT Al g2 Ol U 2UEE'?
A) o B) ¢ C) co D) ec¢
16. @64 GRS 9% 6I6REER 900 HTR 6RQ1RPANI FIRIR 696 628 ?
A) o @4 /a4 B) ¢9 @4 /a4l C) 99 @4 /a4 D) Mo @& /aal
17. 99 94§ QW 6298
A)9Q QISR Qi B) 9@ Q649 C) 9@ QIS Q@I D) 4@ Q°g& QI
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18.

6I694¢ 6208 IR A4IQ 6960 AR ?
A) .c098 B).0989 C) .c0099 D) .co0R99

19. @68 TP AR @8 648 QYREI 62 ¥o% 648 O& *QAARE 6 AT ¥ 90 6d8 QLTI R AR Bl
FRCEQ 6R6RIT 626 QRYMI?
A) 8T & 698 B) 900 G 6423 C) 999 & 646 D) 900 & 6406
20. 691G QIFYQ o QR6Q A6R B & 69R QLYY 8 GRER F6QI 62AIER IND 6R6S RER 62R AR
QISR 669 RR6R?
A) 8 §@ B) » 9@ C) 9 4@ D) @@
DOMAIN KNOWLEDGE
21. QI YRR 60dG° @QQ ANAER ARG 92 6291 YIQIR?
A) 21N QI B) @6qudq C) 661dR 2@ D) ATG GIoQ
22. 9@ gI&° 603QQ R 6918 2! QU6 FIRE 621R2INM?
A) 2Ige B) @4 6 C) QldQ 99 D) QYI6Qm
23, Qlan dA° 9 dR° F6ee 629 634|IT AQVIQ ATCQIGI1?
A) QIfl 21964 RITA B) 52l HIceRRING QISR
C) AR G922 8 60Q leTn D) @6QQ 2IFA YLQIER Q12 9L And 26T
24. NQ F9Q 22Q N § Q2 8 N Ad JQim @88, wela de @NAca 6297
A) 9 A4 B) 98 &8 C) o ¢ D) eol” &&
25. 6QIG° AUCAARER T ANEQ .8 AF 2969Q6TE QA PINACAER TRIRR Y@l ARG AR
6297
A) 0.98 ¢ B) ¢.8 A& C) N G D) » a4
26. QU GR° IR YIFA6R TR QA 6AIFAR 12| Q@7
A) PRAQ FRTER B) 2IQ9Q A69IE FRCER
0) 98 QU6 D) 2I9QQ 696161 TME6Q
27. @@ 2QUI0R JASER @97 629 J0a EAZEALR ML @R 20RLING WA AGAIR
05Q J6QRe FAUAIRAN?
A) 9@ 2 G99 B) Q@ 620a@IR 99 €)@ J6am J9Q D) B¢ 6 66 daQ
28. QUGG TR 99 AIRY @417
A) 8.0 @ B)0.9 @ C)o.l' @ D) 0.¥ @
29. 9@ 65 6Ql ARYCR 60T 62QF :
A)o.0 @ Q 0.¥ @ B)o.¥ @ Q o.I @ 0oy @q e.ra D)o.¥ @9 9.¥ @
30. 6969696m Y@ URAQ AR R6ART° QR Q@G dIG QRaN, 6A6066R SRAIRAY FLICN:

A) QUNTd B) G214 C) 602 AR D) 4961649
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3. 699 @RCIA AT VYRR F1R9 J64e ARG 691% 629Q AUAYSB NLAQ FRLIN?
A) QA B) 536 Q4R C) 4IS IR, D) @21ed

32. Yd QG UIFRQ QA JIRIQ 82 82 AN 6INER (QdT) QET QIRIg Y2IQ AR QA
QRIS RAJIQAIRAR -

A) 6n@ dTeR B) QIR-685 TR
C) G1RL6RCR D) 6Ren TR Q FIRAERTR
33, GONM 21090 99 98 TENM 6RIee 12l QLI :
A) 99 JO6AMRQ! B) 9@ 29Q0 C) QRS D) 691916999 G6m
34. 500G RdQ QLA 6UCEERER IR ATCRICIITR LI FAILIN e A0R0! 691 YRR
JoIe R6Q?
A) 2994 B) G Q4e. C) 6QGQIM AGKT D) Q1a¢°
35. Q66Q 0IR P60RIANEA 699 GRIAAE AR0IQ R ALY AGaIN?
A) ARGHeR B) @604 66'AQ 0) A% I9Rda D) BA6RIEIY
36. 92 QIQd 624 INNGNY ARR, 6208 A6 IR AN-AURAL ARG
A) QYI@° QAIQV! B) @9 2I3IQ &%
C) Y9 2D 99 gI6UIRa! D) @7 98 6% 8 920 YR 98 JTEARIRQ!
37. 699 2418 6549 QIR AIABYY ARG QIR A7 98 §F AR FRUAINA?
A) QAREALIQ LR B) @60@G"° A4
C) GUIRT AYI6R69 D) g -62m a&699Ae
38. U@ oMM 691697 6QIR ARG YOA QIR GRAN FAUUIAE URIAl ARGYS SIRFIQ 1L
699
A) 4991 ¥QI0 Q@9 B) 6@ AG"° goIe @89
C) 6QUNETR. 6Q56MA? Jle @8l D) 9210 Q@RalIg
39. QAge 969RR 62Q 2RCYS JRIRR 629 IR IR AAAG N2 QLIAN :
A) 98 JP6RIAT! B) VIR 218 C) 691016992 @6m D) QIQE S1Q¢
40. QAQUER 214 AIRYRI AIRR, 3R AdenAFR AARQ 12l QLI
A) Qg B) 4@ C) 6eQgG"° D) 249gs°
41, I8 A QA PR-26LR. IR ARG AR YR ¥-G¢ AALAUR-2UPR ARGER Q@2 :
A) QMR FR01Q QF @6a B) @AR67164Q, RJS6R € 6419 K6
C) 691016999 G6m SRAS QR D) A6&0 G 2IRIQ FFIAG [6Q
42. 6@6QIF 6A1PR QAR S6KI9 UUEAAR AAR YUEG'?
A)Y B) N C) 9 D) @
43. 6@60IF 6A1PR QAUARIA F6KI9 RAERAR AAQ 26H'?
A)Y B) N C) 9 D) @
44. +¢ J9Q dIBIQ 22 IRl @ + N.¥E ANNG IM PIAR FAULIAG G121 1@ RIQEq 62IRUIER :
A) 9@ AR¢ BIR B) 4@ 9594l 6096meaC) AT-ARG gala1 D) 9@ ARG, A
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45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

2IQ 80% A6 dad BAIQR Al 6291 QR :

A) 60046 8 Y8ags B) Q0QI 8 9&<l

C) @It 8 Q&° D) A@° B 69R° IHRFYL

6% JQISl RAFAS ARYS 8 ARYS AGRIR FIER AT IAF QRR FRIN?

A) R 2denicailg B) 9@ Q&% 6919

0) 99 69999 ZIRIRNANR D) 4@ AIRG65Q AR

4@ 2Iad IER 9@ 9@ @TY4 6916 6RHILN 6062 Y2IQ JA9R 6QITIRT Q4?

A) 699Q QUG 2R6Q B) 0129 Q6N FAER

€) 219dq JRQAe KA6S D) QIIQ 6AId] 660X FR6R

PROIN ARC DG ARFACAQ IR 9B UG FREIN

A) dnd Gl B) 6QINECR. A 60X VRAC) REQE D) dad 6994

eooIR Qguea JANQ YUER ALRETY FRQ IR 9@ Q6 eeede Jenq N
RAUYIQAIER

A) ¥R IFING RIS FRIRAQ B) Y@ @F0IR 2R0IS G919

C) 42 ZIRING 22d6 faal D) 4@ @FeIR g4

A8 (NR)6Q 66T QI IRIYD ARYS 9K AN 6369 6068 62Q IR AIRTYL. A 689
A) ZQ 6916 B) @6 6916 C) 218 6916 D) IRNKRE 6616
Q@ QIF° 6019R26Q 26 JRIQG! Y2l QIR YR YUK

A) 2Ie8° 9R 999, B) OM 62N 02 429 QIR

0) 29 9I9eQ e @8 D) 31 §9g @0

628 60] QARRY QA BFGIA oAl FPIRd 6 638 6A0Q ALIRE AR FRIAG
QALK

A) 9@ YT6MICIC B) 4@ Aadca

C) ¥R 6999¢ RN D) 9@ GQIRT 6260606Q

6206 9@ gRI0Q 69dQ 2 ARG ?

A) 21 2IeQ 6 IR e B) 21 2IGQ B AIAURR LR

0) AIdR6RIFA 8 6199 D) 499 QAR6Md G QaQ FFRNEAIE

@ 62d° 6adQca @Y @QAQI AAAER @E° gM B QY AUER YOI IRY QYR L@
49Qgsi?

A) @R F9Q Q6° ¥R gl AR IR

B) 31999 66960 6a16d gRIQ Aeaq IPIAS! IR

C) 3999 959l IR 6291 8 95° IR G4 FAQ

D) QldQ 999 @%° FReq 6%l

2N gRQ 2IQ 21T, F9R°6R @911 QBRI FOAY0 MG 699 HLIET RAYS ACH'?
A) QIS {eld B) @4 &2/ C) 21T QARG 6212 FLIEID) 632, FLI4l
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56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

~ <

QAT @6gIN 0.5% QTS AITAR AYAE 6QR2ANI 800G AIFY RYILYR 6996Q 6a60I5 Y
I9q QIR AQAP JULIRIN?

A) @ B) 9 C) Qo D) 90
6% PA96Q 9 636°q Yed 671326Q @QUAIRAI?

A) 661920IQ Qa6Q I ¢oa 67de B) 2IRGR 199 A6 IRT 60da6a
C) §-696° 3@1ag D) QU6QI8 F1IG 6RAG Q62

JIAG 669909 QIR YI2I QUER ATERY IQREHR, 621R Q2N IRIq QRIAN?
A) QUG QIERY B) QUG 65999 C) 6@ D) 639699
620 g9I0a deeIng @AR¢ QY QIR Q& IKIRAN?

A) 992 doRIn B) @2R89Q 0) 2IFIeRIG D) G@%IN

QDY 69QQ 697 FAQI IR 626, AT IRY NILR FAILIRAINI YR 68 8 621 66l AF° 679G
Jdole QARG Qe 6, A0 FORYE FIG 69X 621, INEFL] 609 AAUIRREN?
A) de B) 6209 ZISER C) 6911 D) de @INAeQ

Morse taper is one of the internationally accepted standard tapers. The morse taper are available in numbers
from?
A)Oto7 B)0Oto8 C)1lto7 D)1to8

4R QARIRN-63666. @RTIN-G-2RNNG FRVTAR ARYS 6QFWR €006R Q2R U 1@ ARG
84 6QId A0 A°YB FAIAI, 6062 Y@ 60HAR 6QA FEQL 629 :

A) 8 914 B) 80 C) 8004 D) 80 ¢

AIAYO AIQ 699G 6208 IR AR 95 QI2IR SHIN-G-ARING Feea (897) 86 A°ge
26e'?

A) @R6R16517R R B) 9594l AIR6ge. 6219

C) 2AT6AS 1R D) @R16216015R 8 Ax6Ae gF

PIRAYS I 6296 IR I ATATR?

A) 9691Q B) @IN¢€ C) 6R192e¢ D) AARR QISR

69326Q 64 6 BF 2AR 2IAR, 6 VI2IQ AIRCACAR MILIQ FARIR M AEREY K&l 2ACE'?

A) RIS 6@ gIeafe aaalg

B) 64 AITSQ B 20RQ 2R A6 214 9! [RaIY

0) @2 92 919986 @t

D) 8¢ ARG 69 AT AR TQ 21 Ie el

49 gIed° 2aAQ 699 AR, 928 IRl 4918 AAULIRAN, 629 JRIQ 699 ARG 698 TIRR
2IRNQ6Q Q@EIKIRIN?

A) R0o-9% B) Mo-9o C)ro-€ro D) 990-900

Jdued 60dQ 210 QIal dAQIRG 621Nl N9ee YRIQIRl FAEe 6Q1R2I1N?

A) @ 6919191 B) 9@ 2U6QG"° C) 99 QY1 D) 9@ g9l 691% daq
84 G99 2aaa N9 § QIe (62¢) 8 M A agim (¥9) Q@FI eI de NATR @5 6297
A) 9 A4 B) 98 &8 C) o &4 D) eol” &&
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69. UNRXQ QB 64160R ILIQIA FlId @ALIR2IN?

A) 35edIR 6e0@9a [IRAa B) A9Q G2 6QQFAR RIRAQ
C) 698 QIRERITSR D) J9Q 658Q
70. 9 ONE § ONE R64IR Ja0 SRS G 699 2IFERAR IR AAYB?
A) dQ° 691N B) 0&° C) @@ D) gIQél°

71. 99 6@16d 9@ QARYGER Rl @ 6dRd QRIQEG 696 QR gRIFe Jarim @6 29, 6 KSYS
AR 29, 6062 6916 629 (¥Q) :

A) 8 B) 99 INRE C) @ D) 2Q
72. 99 AFR 9IRFRQ SAYC 609 GRTIA AFR 666 Q18 IR IRLIQ FAILIN?
A) 21€ 6918 B) 26 6616 C) 96 66l¢ D) IRNKRE 6616
73. REQ 696 DIFIQ AR QA ¢ YR URGICER ABUN 6U6R6I6R IRIQ 66T ARYS. AR
6208 (49) :
A) 2R 6916 B) 24 666 C) @G 6618 D) @6 6618
74. 6Q60IT IRINRE ARG 9¥ 00 YIRS 2IRdeq QEE?
A) B) 9 oY% D)
75. 1993a-2R (Ng962IQ) AFR 699 699 UMY NG 6616Q A8 621QURI?
A) coan U} 6919AQ B) 214 660194 B 96 66194
C) 218 691699, 2R 66516 8 96 656'd D) 2} 696'd B @6 696'd
76. @ QIR-RRYC ARG IR 6X60IT g2 659M ER, UAGHR QRR?
A)Y B)I C) 9 D) €9
77.  NQ IRNNRE 696Q QL8 :
A) 621 RS 8 6ml AIRGYS B) 212 QRJE 6 21 URSYS
0) 6nl RYs. 6 2Ia 2IRGYS D) QUEQIB F1IG 690G Q62
78. 69Q@ AFR 696 UILIR URGIS. ARYTQ FEAMECIE 26T 6298 :
A) 2Q 6916 B) 21& 6616 C) Q9 Q 6916 D) Q#1696
79. 699 AR APY QA IR G AGR 666 2R AIRATYS AYR FRIN?
A) A5R06Q 6015 AR AR 62IRaIN B) UGQ916Q 665N RadC 6Rl 621l
0) Qg0 9&a F1e6as D) 96 @Rge 9e@ 2@
80. 69606969 QAG @R AFR TUFRY AT FAIYIRE 699 ARG AUCAIG 6211 AIQEIR?
A) 6297 P64 B) Q990 6QUNECR. B R6QE
C) 6997 6QUNETR, D) 299 dIgIQ 214 8 gG6eql
81. gIRd° 2ana 6@d° 8 6&° 62?7
A) G QIR AR ATEQAR B) A91IR QUKQE6Q QUL
C) 6097 6214 ¢Iad° 2@ IR FAULIN D) 6a9% Od gIad° dIR
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82.

83.

84.

85.

86.

87.

88.

89.

90.

Je GMQ 639, QAR gIade 62g TG° gF doeaiuael 8 Q@6Q 6J606Q6nd @ €9 {4
QINAIGQ 62INR G 9Q AUEAIB IRIAY Y2l JIIR 98 21 FAUILIRAIER?

A) 639Q 6R695% 60@ B) 632 a&7° C) @9 §6° earid D) 2@ §&° earid

80 8 QAR 2166Re 8 ATeq RGN 9Iad° 6a3R6R JINg FRIR AILARC! 0B, UG
QIdiQ AIRERe 9aae e NN foa /AR 29 6069 QILIR 2Iede 6297

A) eCo B) €80 C)9¢o D) 980

62J6@G, AITA6R FRNYE UG 69Q 691 TG JUR FAUAIRAN 69K016Q FIRATAR AAAER
62QQ gI& RU6Q6gda Q1Y @elN?

A) @ 68@ B) 6QIAIQ 692 C) 9an 69e. D) 9660Q 692
FIRYO G 689 QAT A FIER NILIR FAULI B FER NIAQ TR FITCR AT AR
PREQ?

A) 692 da 9699 B) Ag6eam 9629 (49)

C) T9¢ Q6Qam 962 D) RIRKQ Q64

FIRYE G 628 RUAAGET TAQ 60F° AR A 6FIAEQ NRYR FAUAN ALY &
RAUAIRN?

A) 60¢t6RE B) 919 9K

C) @INR 698 QE6RTQ 8 § 9699 D) 9@ Qf AR 16 IR,

QIRfg 2AR AL0 6U606R6R d61686 RARIAR TUe TAY FIRd° 8 QYT FAULN ! A@E
dACIER QRIE gIRd° 6219 FReq JOIFQl AINAIR, RIYS ARNILE 6208 ?

A) ARIQM 2R B) J60QIR 2R

C) AATARRES. 2NR D) IR 6 dIfiq dg9a
POIRYE RIQ 699 UUCRARE 9F° 6913260 FAUAIRER?

A) A AITTER QALY §6Q B) Q4QQIm 99

0) A, QU6 LR, 64 D) doa @ aIQ & 63

MR 9@ 6209 € 3.4.4. 699 UNIER FRIN0 AAULIRAN, ¢ AF §.92.0 6g26R ¢ @& 1Y
QeI ?

A) 692Q 699 INATR B) 692Q AIRRQ @INATR

C) 62ea do @IMdea D) JIR9Q 6217 INAR

2l ARIIQE RUIER AUQUIR RRAUUIRE 64 9IA8° 2AAR 60 @8 LR U6Q 9RF G TSR <
692 @RINI Y2l ARG 697 QS 62IR2IN?

A) 29RQ 69Q 926 K09 B) 22RQ 29Q9R Q62494 I QUYS Q6%

0) 692 A 920 QF D) 2228 0% 29 64
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91.

92.

93.

9.

95.

96.

97.

98.

99.

100.
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